[ Efficiency vs vertpos |

-
o
o
(]
>

[
>
>

DQ
DQ
Efficiend —— B3

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.5

0.45
0.4

.................................................

.................................................

LR i G rteenenees
E e
E o] o ] L bl tgiut
N - ES
. -+ -
r HEES T H
L p o p
L : + B
1F* : g e
. +
o e +
- g B -
. +
- LI AL

0.95

0.5

102 107 1

10 0?
TP vertr (cr%)

MKFT_TTbase
_mkFit_TT_baseline_6iter
mKkFit_TT RetrainV2_WP2_6iter

<4

mkFit_TT _retrainOldFiles125_v2_prelimWP_5iter

0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
1.

[y

—

AT

(T

[I

o

13
oS
S

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
E
2]

Y
>

0.5

0.45
0.4
0.35
0.3

.................................................

................................................

I
A
%

0.952

20 =15 -10 5 0 5 10 15 20

Sim. PV z (cm)



	Contents
	Page 1


